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Run 4318 quartetwise, Sums0: All

quartetwize_summbD

— Entries B4678
[ Mean 1.9
— Std Dev 4.365
[ | | J I | | | | | | | | | | ol | | | 1 | | | J_l | | Lr’Fl_IJI_LLII_LI-A I |

0 2 4 6 8 10 12 14

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 4318 quartetwise, Sums0: Beam ON, Laser ON

quamstwisa baami las® summil
Entries 0
Mean 0
Std Dev 0

2000

1800

1600

1400

1200

1000

800

600

400

200

300

250

200

150

100

50

Run 4318 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

= Entries 55207
- Mean 01031
:_ Std Dev 0.2223
:I 1 1 I 1 I | I | | | I | | 1 1 1 | | I | | | I | | | Ll | | 1 1
0.6 0.4 0.2 0 0.2 0.4 0.6 0.8 1
PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0
Run 4318 quartetwise, Sums0: Beam ON, Laser OFF
auamsiwiza boami lasl sumimi
[ Entries 9182
~ Mean 12.55
| Std Dev 0.3203
1 4 | Iy
11.5 12 12.5 13 13.5

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0




